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1.  What kind of selection is demonstrated in this example?  Is the equilibrium point under this type of selection stable or unstable?   What is the long-term fate of A and a alleles in this population?
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p = .9 ; wAA allele=.9, wAa=.95, waa=0





p = .1; wAA =.9, wAa =.95, waa =0








p = .8 ; wAA allele=.9, Aa=.75, aa=.9





p = .6 ; Fitness AA allele=.9, Aa=.75, aa=.9





p = .5 ; Fitness AA allele=.9, Aa=.75, aa=.9





p = .1 ; Fitness AA allele=.9, Aa=.75, aa=.9





2.  What kind of selection demonstrated in this example (all 4 graphs are from the same example)?  Is the equilibrium point under this type of selection stable or unstable?   What is the long-term fate of A and a alleles in this population?








Diallelic autosomal locus example








